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BACHELOR OF SCIENCE (B. Sc.)

Term-End Examination

June, 2021
LSE-13 : PLANT DIVERSITY-II

Time : 3 Hours Maximum Marks : 75

Note : Question No. 1 is compulsory. Attempt any

five questions from Question Nos. 2 to 8.

1. (a) Give botanical names of the plant that
yields : 1x5=5
(1) Almond
(i1) Sago
(111) Reserpine
(1v) Essential oil from its roots

(v) Taxol

(b) Explain the following in one or two
sentences : 1x5=5

(1) False fruit
(i1) Phylloclade

(111) Pneumatophore roots
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(iv) Runner
(v) Tunicated bulb

(¢) Mention the morphology of the plant part
from which the following products are
obtained : 1x5=5

(1) Zinger
(i1) Strychnine
(ii1) Edible part of litchi
(iv) Clove
(v) Saffron
Draw well labelled diagrams of any three of the
following : 3x4=12
(1) T.S. aerial root of orchid
(1) L. S. of female cone of Ephedra
(111) Cross-section of the fruit of apple
(iv) V. S. of Nerium leaf
(a) Describe the floral features of family

Malvaceae or Cucurbitaceae with
diagrams. 6

(b) Describe the development of female
gametophyte of Cycas with diagrams. 6

Differentiate between any three of the
following : 3x4=12

(1) Primary root and secondary root
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(i1) Non-drying oils and drying oils LSE-13

(111) Green tea and ulang tea

(iv) Root apex and shoot apex '[%En:[ Hdeh (aﬁ- 'q-g_-{:ﬁ- )

(a) Describe the diagnostic features of family

Liliaceae or Poaceae with diagrams. 6 E* P I ‘l:l'ﬂ‘?{‘lT
(b) What are Nuts ? Give botanical names of
any two nuts along with their uses. 6 I, 2021
’

(a) Discuss how an efficient reproduction
mechanism and .dlspersal of fI‘I'lltS and TA. TH, 3‘.-13 . uraq fafaea-In
seeds are responsible for the dominance of
angiosperms on earth. 8

(b) Describe the process of manufacturing of ;3 e AR

sugar from sugarcane. 4

Te: 797G 1 T 8/ 7T G 2 T 8 %

(a) Describe briefly the processing procedure
for coffee berries. §] e .
=51 arer g9 & 3 T/

(b) Define fumitory and masticatory material.

Describe three types of true narcotics
isolated from Indian hemp. 6

1. (%) J9% & fau T 99 1 gF@afds W

Write notes on any three of the following :

3x4=12 o ~
ddlU IsiHdd AW [shdl Sldl % : 5%X1=5
(1) Parenchyma
(1) Pitcher plant @) ==E
(111) Lenticels
(iv) Deception of flowers to visitors (i) HTERM
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Gii) fafd=
(iv) SI€ ¥ 9y dd
(v) T
(@) fefafed w1 ww o S dfa o
9T 5x1=5
(i) e ®d
(i) i
(iii) SITTETER
(iv) SURSERI
(v) @Hfdafha Ieh &%

() U9 & 3T Y9N I TR Jarst fad

o [

frefafEad IE T foht S & @ 5x1=5

() oTRh
(i) i
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(iii) Ti= T @H I 9qET
(iv) T
(v) HH

2. fafafea & 9 &=l a7 = “mifea o=

LRI 3x4=12

() oTfchs i AREA SIS HI TIIERARIS
(i) THGT P HE HIH i SRR

(i) 9 H HA Pl TIIEAHRE

(iv) AAEW & TR I HeATeREmE

(%) AEEH ST FHHUaeH! HA ® oA

T &1 T gfed v sifaw) 6

(@) WEehd & JURRIE & fowm &1 gui
o= wfeq sifsa 6
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o o
[

Hfafad 5§ fv=gl d7d =R 9dEu
3x4=12

@) Wi sie Te e W

(i) T-ged a9 Td gEd 9 d9d

(i) BTY 9 TE e 9
(iv) T M T g WM

(%) fafaedt stear weeh @ & fauss

Ao 1 o gfeq goA wifs) 6

(@) 72 71 € ? Tl gt 7 & arefas T
I BU 3T SYAM 1 FUH Hif 6

(%) == HISY T Y g goA fmatary
AR el W WSl % GRETU Sgdstsit
TRa % gedt W Uy & fow faeRR
2| 8
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(@) T § = & garE & fafy & oavE
Ty 4
(%) HIBI T o H FEEA kA H1 Haq H
U HIfST 6
(@) yushig iR <dvil Gt i wRenfaa

HIfTT| 3T dF THR & Fned @raehi 1
U hifee ST fsR¥0T 9 (Indian

Hemp) ¥ T < 21 6
frafafes & @ &=l v w  fewfmr
SHifeT 3x4=12
@)  ggdh
(i) EreqUit
(i) Ty

(iv) g SR & faw e
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